ne- SetOptions[Plot3D (x0r whichever plot you desirex),
ColorFunction - "Rainbow" (¥One of many opt‘ions*)];

(32a)

Plot3D[x"2+ (y-1) "2, {x, -10, 10}, {y, -10, 10} ]

(3b)

Plot3D[x"2- (y-1) "2, {x, -10, 10}, {y, -10, 10}]

(3¢)
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Plot3D[Exp[-x"2-y*2], {x, -2, 2}, {y, -2, 2}, BoxRatios - Automatic]

(3d)

o= PLot3D[xA3+yA3-3xxy, {X, -20, 20}, {y, -20, 20}]

Out[10]=

(3e)
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n11- Plot3D[x*y+50/x+50/y, {x, -20, 20}, {y, -20, 20}]

out[11]=

(37)

2= PLot3D[(x -y + 1) A2, {x, -10, 10}, {y, -10, 10}]
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out[12]=

(42a)
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- Plot3D[{2XxA3+4xA2+y"r2-2xxy}, {X, -2, 2},
{y, 0, 4}, RegionFunction » Function[{x, y, 2}, Xx"2 s y&& y < 4]]

Out[18]=

2

In[37]:= Reg‘ionPlot[x’\Z <y&& y<4, {x, -2, 2}, {y, 0, 4}, AspectRatio -» Automat‘ic]
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nzop- Plot3D[{yr2-2y+Exp[-x"2]}, {x, -1, 1}, {y, ©, 2}]

Out[20]=

nee)- RegionPlot[x < 1&& y <2, {X, -1, 1}, {y, 0, 2}]

20 — ‘ =

out[29]= 108 7
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In[22]:= P10t3D[{X"2+y"2—2X—4y+1}, {x, 0, 3},
{y, 0, 5}, RegionFunction - Function[{x, Yy, z}, 3y < 15—5x]]

out[22]=

o~ RegionPlot[3y < 15-5x, {Xx, 0, 3}, {y, 0, 5}, AspectRatio - Automatic]

5h -

out[36]=
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s~ Plot3D[{2xA2+2yr2-x+y}, {X, -1, 1}, {y, -1, 1},
RegionFunction - Function[{x, y, z}, x"2+y"2<1]]

1.0

w1~ RegionPlot[xA2+y”r2 <1, {X, -1, 1}, {y, -1, 1}]

1.0 B

0.5 i

Out[31]= 0.0 I
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(4e)
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nesi- Plot3D[{x"2-2yr2+4x*y-6x-1}, {x, 0, 3},
{y, 0, 3}, RegionFunction » Function[{x, y, z}, Yy < 3—x]]

Out[25]=

niz4- RegionPlot[y < 3-Xx, {x, 0, 3}, {y, 0, 3}]

a0F T T

251 B

Out[34]= 1

0.5 B

0.0

Printed by Wolfram Mathematica Student Edition



